Non-Calculator

Ql.
(@  Work out the value of VB x V2
Answer
i 4
(b)  Rationalise the denominator and simplify v3

Answer

(2)
(Total 4 marks)
Q2.

@ write Y179 in the form afb where a and b are integers greater than 1.

Answer

(2)
24
(b)  Simplify fully 3

by rationalising the denominator.

Answer

(2)
(Total 4 marks)
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Q3.
BB cn
Write ~2 18 inthe form a+2 where a is an integer.

Answer

(Total 4 marks)

Q4.

Write this ratio in its simplest form

A2 0 .48 .J300

Answer

(Total 3 marks)
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Q5.

: lw® —h* |
Here is a formula :

Work out the value of rwhen *=9+2 and /1= 5.6

Give your answer in the form b where a and b are integers greater than 1.

Answer

(Total 3 marks)

Qo.
Expand and simplify fully

(10 = 42)(-/15 - +f3)

Give your answer in the form ap , Where a and b are integers.

Answer

(Total 4 marks)
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Q7.

< |
r\31|051

(@  Simplify fully

Answer
(2)
®) VB x V5 x VA x V3 xv2 xv1 =k 5
Work out the value of k.
Answer
(3)
(Total 5 marks)
Q8.
(&) Work out the value of 2]
Answer
(1)
(b)  Expand (2 +3)7 and simplify
Answer
(2)
(Total 3 marks)
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Qo°.

(@) Work out the value of V2 x V32

Answer
(2)
21
(b)  Rationalise the denominator and simplify 7
Answer
(2)
(Total 4 marks)
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QIO0.

16
(@) Rationalise the denominator and simplify V2
Answer
. (5-V3)
(b)  Expand and simplify
Give your aﬁsT/\))@F:g in the form
Answer
(2)
(Total 4 marks)
QI1.
(5-v3)(3-+/3)
Simplify fully 2
Give your answer in the form @ +P V3 Wheregand b are integers.
Answer
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QI2.

Put these in order starting with the smallest.

56 10
2.3 x A2 2 5
You must show your working.
Smallest
Largest
(Total 3 marks)
QI13.
D
%
Work out the value of 3 - 4
Give your answer in the form 3
Answer
(Total 4 marks)
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Ql4.

10
der%ﬁsinator and

Rationalise the

simplify

Answer

QI5.
E
Write 2y w.E

in the form ax@

(Total 2 marks)

where a and b are prime numbers.

Answer
Calculator
Qle.
The square of x is 7
Circle the value of x3
343 349
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(Total 3 marks)

117 649 77

(Total 1 mark)



